

Periodic Functions

Properties

→ $f(x) \rightarrow$ periodic. Period $\rightarrow p$.

(1) $af(x) + b \rightarrow$ periodic with period p

$a \neq 0$ (2) $f(ax+b) \rightarrow$ periodic with period $p/|a|$

(3) $g(x) \rightarrow$ period q , $f(x) + g(x) \rightarrow \text{LCM}(p, q)$

(4) $1/f(x) \rightarrow$ period p

(5) $\sqrt{f(x)} \rightarrow$ period p

(6) $g(f(x)) \rightarrow$ period p , if g is monotonic

(7) $g \circ f(x)$ is periodic, $f \circ g(x)$?

no guarantees

$$f(x) = \frac{e^x - e^{-x}}{2} \quad . \text{ Find } f^{-1}(x)$$

→ let $x_1, x_2 \in \mathbb{R}$, $f(x_1) < f(x_2)$ for $x_1 < x_2$

$$x_1 < x_2 \Rightarrow e^{x_1} < e^{x_2} \quad \text{as } e > 1$$

$$-x_2 < -x_1 \Rightarrow e^{-x_2} < e^{-x_1} \quad \text{as } e > 1$$

$$\text{Adding} \rightarrow e^{x_1} - e^{-x_1} < e^{x_2} - e^{-x_2}$$

$$\Rightarrow f(x_1) < f(x_2)$$

$$\lim_{x \rightarrow 0} f(g(x)) = f\left(\lim_{x \rightarrow 0} g(x)\right) = f(l_2)$$

$$\lim_{x \rightarrow 0} \ln(g(x)) = \ln(l_2) \quad \text{for } l_2 > 0, l_2 \neq 1$$

$$* \lim_{x \rightarrow a} (1 + f(x))^{1/g(x)} = e^{\lim_{x \rightarrow a} \frac{\log[1 + f(x)]}{g(x)}}$$

$$\lim_{x \rightarrow 0} \frac{\sin f(x)}{f(x)} = 1$$

$$\lim_{x \rightarrow 0} \frac{\sin^{-1} f(x)}{f(x)} = 1$$

Tomato 1

1. A vessel contains x gallons of wine and another contains y gallons of water. From each vessel z gallons are taken out and transferred to the other. From the resulting mixture in each vessel, z gallons are again taken out and transferred to the other. If after the second transfer, the quantity of wine in each vessel remains the same as it was after the first transfer, then show that $z(x+y) = xy$.

Wine

Bottle 1

$$x - z - \left(\frac{x-z}{x}\right)z + \frac{z}{y} \cdot z$$

Bottle 2

$$z + \left(\frac{x-z}{x}\right)z - \frac{z}{y} \cdot z$$

Bottle 2

$$z = z + \left(\frac{x-z}{x}\right)z - \frac{z}{y} \cdot z$$

$$\Rightarrow \frac{z^2}{y} = \left(1 - \frac{z}{x}\right)z$$

$$\Rightarrow \frac{z^2}{y} + \frac{z^2}{x} = z$$

$$\Rightarrow \frac{1}{y} + \frac{1}{x} = \frac{1}{z}$$

Limits

$$\lim_{x \rightarrow 1} \frac{\sqrt{x^2+8} - \sqrt{10-x^2}}{\sqrt{x^2+3} - \sqrt{5-x^2}}$$

Rationalisation. ans = $\frac{2}{3}$

$$\lim_{x \rightarrow 0} \frac{3x - \sin^{-1}(x)}{4x - \tan^{-1}(x)}$$

$$\lim_{x \rightarrow 0} \frac{3 - \sin^{-1}x/x}{4 - \tan^{-1}x/x}$$

$$* \lim_{x \rightarrow 0} (1+f(x))^{1/f(x)} = e$$

$$\lim_{x \rightarrow 0} \frac{b^{f(x)} - 1}{f(x)} = \ln b, \quad b > 0$$

$$\lim_{x \rightarrow a} \frac{\ln(1+f(x))}{f(x)} = 1$$

$$\lim_{x \rightarrow 0} \frac{e^{\tan x} - e^x}{\tan x - x}$$

$$\lim_{x \rightarrow 0} \frac{x^n - a^n}{x - a} = na^{n-1}$$

Let m and n be two positive integers greater than 1. If

$$\lim_{\alpha \rightarrow 0} \left(\frac{e^{\cos(\alpha^n)} - e}{\alpha^m} \right) = -\left(\frac{e}{2} \right) \text{ then the value of } \frac{m}{n} \text{ is}$$

$$\lim_{\alpha \rightarrow 0} \frac{e^{\cos \alpha^n} \cdot (-\sin \alpha^n) \cdot n \alpha^{n-1}}{m \alpha^{m-1}}$$

$$= -\frac{n}{m} \lim_{\alpha \rightarrow 0} e^{\cos \alpha^n} \cdot \sin \alpha^n \cdot \alpha^{n-m}$$

$$= -\frac{n}{m} \left[\lim_{\alpha \rightarrow 0} e^{\cos \alpha^n} \cdot \lim_{\alpha \rightarrow 0} \frac{\sin \alpha^n}{\alpha^n} \cdot \alpha^{n-m} \right]$$

$$= -\frac{n}{m} \cdot e \cdot \left[\lim_{\alpha \rightarrow 0} \alpha^{2n-m} \right]$$

$$2n-m=0 \Rightarrow \frac{m}{n}=2$$

$$\lim_{x \rightarrow 0} \frac{ae^x - b}{x} = 2. \quad \text{Find } a \text{ \& } b$$

$a=b=2$ (use expansions)

$$f(x) \leq g(x) \leq h(x)$$

$$\lim_{x \rightarrow a} f(x) = L$$

$$\lim_{x \rightarrow a} h(x) = L$$

$$\lim_{x \rightarrow a} f(x) \leq \lim_{x \rightarrow a} g(x) \leq \lim_{x \rightarrow a} h(x)$$

$$\Rightarrow L \leq \lim_{x \rightarrow a} g(x) \leq L$$

$$\Rightarrow \lim_{x \rightarrow a} g(x) = L$$

$$\text{HW} \quad \lim_{x \rightarrow \infty} \frac{\log(x)}{[x]}$$